' GROUP 6 STRUCTURE

CAB AND ACCESSORIES MOUNTING

Sliding
door wa

Latch assv

3009SHOCM10

- Tightening torque
ltem Size kgf - m bf - ft ltem Size kgf - m Ibf - ft
M 6Xx1.0 0.4910.1 35707 4 | M10X1.5 69114 49.9110.1
2 M 8Xx1.25 251705 18.13.6 5 M12X1.75 | 12.8+3.0 92.6+21.7
M10Xx1.5 47709 34165

9-13



CAB INTERIOR MOUNTING

Seat

Storage box

Console

box(RH)

Console
box(LH)

Safety lever

Travel
lever

4
U S Viscous
Foot rest > mount
Footrest o .
bracket \ Bottom plate
p N
4
4 3009SHICM11
- Tightening torque
ltem Size kgf - m Ibf - ft ltem Size kgf - m Ibf - ft
M6Xx1.0 0.49+0.1 35707 4 | M10X1.5 69714 49.9110.1
2 M 8x1.25 4.05*£0.8 29.3£5.8 5 M10X1.5 82717 59.8£12.3
M 8Xx1.25 25105 18.113.6 6 M16x2.0 29.7t45 2151+32.5

9-14



COWLING MOUNTING

Pump screen

Engine hood
support

7

. s
/I =z Sh
-
' Mcv hood
I Side cover(RH)

Engine hood
support

3009SHICM12

- Tightening torque

ltem Size kgf - m Ibf - ft

1 M12X1.75 12.8£3.0 926+21.7

9-15



COUNTERWEIGHT AND COVERS MOUNTING

Tool box

Fuel tank

MCYV under cover

1

Cab under cover

L— Upper frame

L.

Rad under cover

3009SHICM13

- Tightening torque

ltem Size kgf - m Ibf - ft ltem Size kgf - m Ibf - ft
1 M10Xx1.5 69+14 49.9£10.1 3 M12X1.75 12.8£3.0 92.6+21.7
2 M 8x1.25 25705 18.11t3.6 4 M36 3.0 308+46 22281333

9-16

Counterweight






